PROFESSIONAL
i EXAMINATION BOARD
pb@’é%ﬁ”é”“““ Middle School Teacher
Eligibility Test - 2018
21-Feb-19 02:30PM-05PM

Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ Hfqdr &I qlq B A Ugdd fafer =1
Hel o1l 8

1. Massed learning / TS TA TR 3T
2. Distributed learning / faafed fRren

3. Serial memorization / Qbi?-lcb RepERYY

4. Paired Associate learning / g&lﬁ Teatt iR

Correct Answer :-

« Serial memorization / SFTHP AT

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that

raerarard) uReeq ' Aoigd Ay erabgfe

1. Language determines perception / W@fﬂﬁﬁﬂf&ﬂﬂﬂ?ﬁ%l

2. Language determines thought / Wﬁaﬂaﬁﬁﬂfﬁﬁmgl

3. Language influences memory / Wwﬁﬁwﬁaw—cﬁ%l
4. Language influences thought / Wﬁﬂﬂﬁqlﬁﬁaﬂ?ﬁgl

Correct Answer :-

« Language determines thought / Wﬁwaﬁﬁﬂfﬁﬁmél

3) An individual who is lacking in achievement motivation would exhibit yAY fad

rad e Suaf st wtgag_ ueRia swmi
1. Self-assurance / TH-ATHHA
2. Pessimism / ﬁTI’QTIEHTZ{



3. Pragmatism / dgRdlq
4. Positive outlook / GPRIHD TODHIU

Correct Answer :-

o Pessimism / IERIQIIGIG

4) Planning in inclusive education should be followed by ., gHTash fRrem o gier &t
_ & gRIUTeH fear i aifgul

1. Recapitulation / HIR-h

2. Evaluation / Hedidb+1
3. Implementation / SHraa

4. Assessment / b

Correct Answer :-

« Implementation / Hrafa

5) The RTE Act was enacted in the year: / Grﬂﬂg Sy EL | CLE:| Wm T YT:

1. 2010
2. 2008
3.2011

4. 2009

Correct Answer :-
e 2009

6) ‘Jack is a below average student in mathematics’. Which of the following tests would best support

he above statement?/%"@lﬁﬁwwmﬁ%l 'ﬁyﬁrﬁaﬁﬁaﬁﬂmuﬂ&mm
FYF T Taad U Ha1 82

1. Intelligence test / §fes; URT&0T

2. Aptitude test / S{FHJRT TRI&0T

3. Achievement test / SUTIe URI&0T

4. Skill based test/ PTRICT ST TRT&T

Correct Answer :-

« Achievement test / SUTTI YT



7) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for

which the dog naturally salivated? / ﬁ%mﬂm%mmﬁ, aﬁ'waﬁﬂm YT
oI IUNT I IS &1 quiH H & fore fovar mam 31 forass fore o warvnfa® &u
¥ @R TUSTAT UT?

1. Unconditioned response / WYHTdH &H@Wﬂ
2. Neutral stimulus / & BE‘TW
3. Unconditioned stimulus / TaTHTA® 3{’,‘ EZ

4. Conditioned stimulus / &lﬂa'mﬁ RELCT

Correct Answer :-

« Unconditioned stimulus / SaTHTfd® G_Eﬁ'w

8) How many pairs of source traits did Cattell identify in his theory of personality? /

$20 A ST T 3 i & Wi a0 & e g feme?
1. 16
2.32
3. 14

4. 22

Correct Answer :-

9) Teacher eligibility test is an example of which type of test? / e A e fFa yeR &
TI&I0T T U IS8T 22

1. Aptitude / Sffaar
2. Creativity / goIRITerdT

3. Intelligence /‘g’@
4. Personality /a:l%c_qr

Correct Answer :-

o Aptitude / ST

10) In a learning friendly environment, the following characteristics are present except

ST & TP P ardaRuTH, %mﬁaﬁl@aﬁﬂmw@ﬁél
1. Learner autonomy / fRremeff &1 TR



2. Multi-disciplinary approach / El‘g’-ﬁw DI
3. Teacher monitoring / e/ &1 FAIRE
4, Flexible process / GEIIRIERI

Correct Answer :-

« Teacher monitoring / fRref o1 FARE

11) In a language, the smallest unit that signifies meaning is called / fodt yraT ﬁ, 3 Y

A TN TR DA SPIE S P SEAI gl
1. Phoneme / S (GI-1H)

2. Syntax / AT fA=m (ﬁl%?ﬂ:f)

3. Word / X[eG (TS)

4. Morpheme / 0¥ (AT TH)

Correct Answer :-

o Morpheme / e (ﬁqfﬁq)

12) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice?

/ FrafafEd & A -1 $UF T G | '3idi¥e IR ) Jad st dvg afofd sdr a2

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRrefeb Taraarn

DI TTd ol & 3R Rl &1 3% a&dl 7 ugan & fo fawed car gl

2. The teacher uses praise and appreciation of a child’s work. / 218/ S & BTH DI IR 3R T
FRATE

3. The teacher gives a short break to have snacks and water. / QTW 1RdT GhT Ut iR & %Q Th @ﬁa
EEEGIN]

4. The teacher provides rules and conditions to complete the task. / B Earkal o oA & fog fgm
3R T Y& BT B |

Correct Answer :-

» The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRrere Targdn

) MiTfRed SRl 8 3R Rienfigl &1 37 deal deb ugan & fod ey ear g

13) Which of the following is not a part of the process of memory? fafafeadd o= Wﬁ Gl
yfsrar &1 fowa =81 32

1. Storage / HSRUT
2. Retrieval / JT: e



3. Encoding / 3'_‘|$_||§]|
4. Motivation / IRUT

Correct Answer :-

o Motivation / aTUIT

14) Which part of memory involves forgetting unnecessary information in 15-25 seconds? / Wﬁf &

5T URT 1525 Y W ARG TSR S Y& AT M 82
1. Long term memory / ﬁ-ﬁ?ﬂ:{ Fﬂﬁf

2. Sensory register / Gddl IR

3. Working memory / T Sfd

4. Short term memory / W—W F{ﬁf

Correct Answer :-

« Short term memory / Fﬂgﬁﬁﬂ?{ Fﬂﬁf

15) Infants develop stranger shyness by the ageof ./ ﬁ'l"{[ P IY dP e I
fRrere= a1 wwia faefa #3a 81

1. Three months / GG 1:@9[
2. One year/Waﬁf

3. Nine months / :ﬁ Ilﬁef

4, Six months /%qﬁaﬁ

Correct Answer :-

o Six months /@%’Ilﬁe[

16) Deductive method proceeds from : /AT fafYr e UPhIR _Ea?ﬁ %:
1. Examples to illustrations / 3GIg XUl @f m a’ﬁ th

2. Law and rules to observation / PTJ1 3R Fawl § sadid & 3R

3. Specifications to generalisations /qrETRAER § fafeen ot iR

4, Observation to examples / aArDp o KA 3R

Correct Answer :-

+ Law and rules to observation / P 3R Fawl § sadid & 3R



17) What is the term used to describe the strong bond between a mother and her child? /T 3R

9P I & S goigd S BT IUIH H1 & e frd Weg &1 U fovar wirar 32
1. Love / UH (&d)

2. Security / GR&T (RN

3. Maternity / HIJcd (ﬁ??ﬁﬂ)

NI
4. Attachment / HHdT (3{CIHC)

Correct Answer :-

« Attachment / HHdI (31?1'44:[(1)

18) What type of intelligence would be used when trying to navigate through traffic? /aﬁm ﬁ

Afaiie I D DIRR BXd I f59 ToR 3 gk o1 U far s
1. Interpersonal intelligence / &I?Rﬁm%@ §@

2. Intrapersonal intelligence / W%qm m

3. Spatial intelligence / RJIIEEY @:@

4. Naturalistic intelligence / mﬁﬁ Tg’@

Correct Answer :-

« Spatial intelligence / EJ|IEGT g@

19) Hereditary factors begin their influence right from the time of of the child./ Wﬂﬂ"ﬁ

PR I B & T A YT YUTT IR A & |
1. Development / T

2. Growth / dfg

3. Conception / TTHUTT

4. Early years / URRYS® a9

Correct Answer :-

 Conception / THTET

20) According to Kohlberg, child may question the social and political beliefs of
the parents and elders in moral development stage. / ﬁgﬂﬁﬁ'ﬂs

IR, =T, A e a=or & arar-far ok 9t 3t armfores
IR IeAfIE T=IaTel W HaTa 38T AddT 21



1. Post-conventional /W—W
2. Formal conventional / @W URUN®

3. Pre-conventional / @—W
4. Conventional / URUN®

Correct Answer :-

« Post-conventional /W—W

21) How will you calculate average marks of students? / 3T BT & 3T 3H|
D1 T FE B2

1. Geometric mean/ fSRATAfeH A1e
2. Variance/ U8RUI

3. Standard deviation/ A fage
4. Arithmetic mean/ 3BT 3NTd

Correct Answer :-

. Arithmetic mean/ 3/&ITTOId 3NTd

22) Generally, all classrooms will have diversity. Identify the dimension that does not present too many problems
related to diversity.

/ TR R, Gt wemai o fafauar gft 1 39 Smarw &) uga i 9gq ifte fafaeara
Tafd $3 JUTSM B Ugd T8t drar gl

1. Cultural background/ WW qgﬂﬂﬁ
2. Geographical status/ arfere fufa

3. Social beliefs / THITH Aq=did

4. Athletic ability/ g¥ IdTq

Correct Answer :-

» Geographical status/ afere fRufa

23) Which of the following is a child's attribution to success? / fRafefad # @ #i #t
Thaal & it a1 $t favang 22

1. Consistent focus on Learning / SfITH IR AR T bigd Bl

2. Random focus on self / & TR &I dhfad HAT



3. Maintain worksheets and notes / HTITA® (Ghfie) 3R Ay HafRud &l

4. Believe in luck / HFT WR Ay &1

Correct Answer :-

« Consistent focus on Learning / SfITH IR AR M Higd Bl

24) CANCELLED

You are helping a mother to develop a behavioral program to deal with her son Raj who has
oppositional defiant disorder. Which of the following is the MOST significant component of this
program?

/ 39 TH AT BI 3 9 IS A e & g v sqasR srdwd AeRa A A ugg R R §,
gﬁﬁﬁﬁ?ﬁﬁ%ﬁ%ﬂaﬁvélmﬁﬁﬁquWWWWW
?

1. Strict parenting / I%d RARE
2. Detention / FRIY
3. Positive reinforcement / P RTHD {-EW

4. Punishment / Il

Correct Answer :-

 Positive reinforcement / P R[HD {;LEGGId?{UI

25) CANCELLED

Which of the following is not part of the quantitative prerequisite for Continuous and Comprehensive

Evaluation? / 9dd Ud AT9® Jeaic- & fore Frafafea & «ar amree gaiten o1 frwmn 18 82
1. Classrooms / $&|TQ

2. Schools / fa=ITerg

3. Teachers / QT&‘W

4. Curriculum / UI&IhH

Correct Answer :-

e Curriculum / UTGJhH

26) CANCELLED

Constructivism assumes that all knowledge is: / TI-ITdIq g AT sfFafi a2
1. Constructed from the learner’s previous knowledge. AEINIED Uﬁﬂ?ﬁﬂﬁ BRI

2. Constructed solely by the learner. / Rremff g1 Fraw Affa )



3. Transmitted to the learners by the teacher. / fRrefen gRT Rigmeff &1 ufdd
4. Acquired solely through personal experience. / fada HJHd & H1HH J Had T fobar gl

Correct Answer :-

 Constructed from the learner’s previous knowledge. / Rremeff o Ujﬂ?ﬁflﬁ 3 fAfa
27) CANCELLED

may affect a child’s social development. / , ¥ & g faer &1
A HR AHAT 3|

1. Asthma/ 3T&JH]

2. Chronic Illness /H,TI:F[ SR
3. Allergies/ Q?‘W}‘ﬁ

4, Eating habits/@'lef i SAlad

Correct Answer :-

+ Chronic Illness /ﬂTFﬁ SR

28) As per Cognitive Constructivism, learning is a result of: / HIFTHSD IAATdIG & SR,
T T 1 T aioH §:

1. Behavioral and Collaborative responses / &4dgIX GhT HSH\I‘IIG-IOb Qﬁw

2. Assimilation and Accommodation of structures / TR BT FGIS 3R T
3. Extrinsic and Intrinsic reinforcement / ST&<1 3R 3l WUT
4. Reward and Punishment of actions / BIRATg &1 YRIDPR RS

Correct Answer :-
e Assimilation and Accommodation of structures / FR_tFITG-ﬁ Gal FI@IGF-T 3ﬁ? NGRS

29) Which assessment measures student’s performance against a fixed set of

predetermined standards? /ﬁﬂﬁ@ﬁﬁﬁﬂﬁﬁ%@ﬁ%@?%m
BT & UG &1 ATUAT 3?2

1. Norm-referenced assessment / W—ﬂaﬁ-&‘l 3Th A
2. Criterion-referenced assessment / uma’sﬂaiﬁa 3{[ha

3. Diagnostic assessment/'?ldli'\‘ldo 3{Th

4. Achievement assessment / IUd BT b

Correct Answer :-



« Criterion-referenced assessment / ¢ S-Teldd sfidd

30) Radha asks her students to make their own questions and write their respective answers for
a chapter. A student in which stage of cognitive development benefits most from the implications

of this task? / TYT 7 3M0A BT A I AU gt TP A A U9 994 3R IO Hafd
IR for@q & foe 981 | v 31, ST AT & {5 TR A 59 &t & fAfgard
T g 3ife arvifad giar 82

1. Sensory motor stage /ﬂé‘cﬁlﬂa ST

2. Concrete operational stage / ﬂjm S{ARYT

3. Formal operational stage / TR Tfshardes SrawiT
4, Preoperational stage /Uﬁw S{ARYT

Correct Answer :-

» Formal operational stage / Tl Tfghardes 3rawiT

Topic:- General Sanskrit(L1GS)

7 siiqeae 3T U6 gus Fed |
o acT |
l.J

Ad < |
7. =2

AT T |
AT T |

Correct Answer :-

2) o .
HIH 5cITT TieufdTde Hed |




T+ A |

1
T + STH |
2.

o+ T
P+ 5TA

Correct Answer :-

FT + STH |

3cda |

3.
) U |

Correct Answer :-

| HeTH |



gy |
4. oy

Correct Answer :-
g9 |

4.

Y &l ereeET Herwy TR ?
ol
| TS |

3EHAG, |
3.

JHG, |

4

Correct Answer :-



? 31or 3fq Hreer yeH ?
RICETIE]
1.

JcddH |
2. oy

AqHRH |
3. =2 -

| IS |

Correct Answer :-

”'ﬁ&mu|gﬂ:$k?

_ qteiga: |

| Flsiga: |



2. & l
| geaAT |
e

Correct Answer :-

 ECAAT |

10

) [ LY !
o 3T Ui Joreh qareh formd |

I L o T 3: |
.J

1

TAL |
."‘:’

2

M LT AL

3.

3 T I L3N

4

Correct Answer :-
M3 LA A I3



4laﬂ:ﬁfr[|

Correct Answer :-

* gforger: Jgeree: HIEAA g T Tddd ?
_ gfaast |

2 qgad |

Uehadel Gidadsl o |

) Uhadel |

3.

Correct Answer :-

? TuTal: AEAYES Gt R ?
wdq |

Td |

| T

, T |

Correct Answer :-

Ty |




* fEEwm scaey Qagaed fhe 2
_ ShIST a& |

_ ShIST 3aE |

_ ShISTAT: Faay |

, ShISHIT: a& |

Correct Answer :-

.Eﬁ@'ﬂT:ml

15)34@2-?[3@?531'2‘& &h: ?
ST |
_&led |
37871 |
, omfd |

Correct Answer :-

16)

AT ScIEd Uld: &: ?

ol |
1.



zlfelﬂ
T |
3.

Rl

Correct Answer :-
AT |

, AHAIH |

Correct Answer :-



Correct Answer :-

, [
| CTETeTH |
| oI |

Correct Answer :-

) 3e7 e JdrAT ¥4 fohA ?
3

SHTFITH |

2

) 397AT: |

, 384T |
Correct Answer :-

SHTFATH_ |



eee sfa TEaT e foEd |
U (AT CTISRITH |

TR AAG AT |

2

U AT CTISARITH |
3.

U AT RIS |
4,

Correct Answer :-

U AU cATISURITH_ |

) 22.9s i3 guer 3187y fo@d |
| UTeleiehueT |

SEICRIMGELAN
2. =~
3 UTGIeshadIGerdueT |
, UTaleiehcRrerueT |

Correct Answer :-

_ UTeleiehtueT |

= AT HEdT Fcdl fagad ?

. d{'lrd'ﬂ?,(‘ﬁ |



 FfRRFAl |
_ Al |
, IdrsHRAl |

Correct Answer :-

_ fafR=At |

" verdrdl: Se-gUH-gey-iaaueey R ?
1. > |
_Tufd ¥ |

3. |
| TR |

Correct Answer :-

~ Tfaant |

® srsecariierd 5fa e eed |
| ITSCIETRA. |
_ 3TSCTacaerd |
| ISTICTRRAC |



ASETIAnerd |
4. T
Correct Answer :-

 3TSCTACATRRAC. |

26) .
gAMOT ....... | 37T REFaca= 9 |

_ ead |
_ad |
REcucl
23 |

Correct Answer :-

_ eddTfel |

3

4

27)

hIcd hEH o Idd ?
e |
ol
ITEeE |

Correct Answer :-

3T |



® wufasafy scaey g adR & e 2
| PUAATAY |

, ¥ |

_ HrAfd |

3R |

Correct Answer :-

" T qsednt @ fantEa: sgead ?
1lar::’rai’fl
NCECE I
_ HeTAT |
RCERIRI

Correct Answer :-
aadf |
. -



,C 06506l
3?.’.'63TEI'§I

4EEGTEEUTI

Correct Answer :-

T3S T

Topic:- General Hindi(L2GH)

1) '3 TRE el weh, it fiarf- 4R ugd eht ol U@ gt T M| SRR ugT $1E sel-wa e 8
i 918 Ug &, A8, TI-IRT AY-ERT1 gt 3RS & g g i | wst wa-feT o wish usdl ¢ ok |
AT USdl 8, 99 $al gg fauT et 81 3R 3l Fam 8, BT, Hg &I 3 ot 81 98-9s fagr off

3l 78T form Wb, dterr A gR 11 SR & e §, g fhaq wien 8 b g3t Swe? ot wae 181 a1 A
mﬁﬁmmggﬁmma@%a‘r IR Tl T4, Wt 98 R Gl BT PR 8, TRl fS
BT HYT ¢ | TA AA-THR 81 8, T g B <@ W1d 3@ B, ﬁﬁrﬁwaﬁ?iﬂaﬁﬁaﬁﬁﬁlﬁw
TEY Bewdr| AR Uedl 38dT §, 39 R Ut tH-U > # at-g), fi9-d9 arar usT Ieda1 § e qu 31
ST HXd Bl fF g0 oY Qa-Fe W 99, TaTe? U 81 Seii? g3 af gt €1 i a1a @ 8, g0 S9-uR 53t
PO W U3 S TN | 3R W 33 v SW ar B, d 3gaR €, TR TQ w13t 3R 7S | Yeeh-Ss1 el
STET Bt MG FATS & YA Tl SRATE Hd 512’

ST TR P UG 1Y IR T WY BT IWR Id183:
U — TR & JAR T3-93 fagr

1. I He-Td ol B Iod g |

2. TGTE & R bl B

3. 3ol UG Udhd |

4. 3N &t forg avd B

Correct Answer :-

- 3Ol e for b

2) ‘39 @RE 3l weh, @ Righ-1R ued N 3R U & 7 3| 3l ug P gaft-wa A @ P
i 9Te g @, 8T, Y-TRT AY-aRT At 3l & fagr 81 oird | Wt wa-fa oifd wist st & ok @A
AT USdl 8, 99 $al gg fauT 3t 81 3R 3l T 8, 8T, Hg &I 3 ot 81 98-9s fagH W =
3ireft 78T form Wb, dterr Y gR @11 SR & e §, g faq wien 81 o g3t Swee Wt wae 181 a1 A
fait Aga v §, g9 U= SiTEl 3@ g, 3R &1 3d, &l U8 TR TGl FT R 7, TN If
BT HYY ¢ | TA AA-T9 B1d &, T 71 S 3@ o1d <@ 3, ﬁﬁé’fﬁoﬁaﬁ?aﬁﬁaﬁ%lﬁw
TEY Bewdr| AR Uedl 38dT §, 39 R Ut UtH-U = A at-gl, fi9-d= 91ar usT Ied1 § e qu 31
3TN HXd 3l fF g0 oY Qa-Fe H 99, Tare? U7 81 Seii? g3 af 3 €1 i ara @ 8, g0 S9-uR 33t
o § U8 Wed el | SRR gFe 39 d¥E SU Tar B, d) 38R B, TR I o3l 3R 7 | eeht-SsT @al|
T1ST B MY HHTS & BUY F91 SRAIG Hd &1



ST TR F UG 12 IR T Uy HT IR Ia133:
U — TR § BedR T aTd AT T ST Bl 52
1. AA A W B

2. UGS I &

3. 3i¥ll T8 forg urd 1

4, Ug-d el A g |

Correct Answer :-

. TS BB

3) ‘39 dvg 3R ueh), ot figifi-HR ugd @ 3R e g 7 3| SRIsh ue +1 §ft-Ba A & P
St AR Ug @, LY, WI-TRT A1 |t 3l & fagr 8 9 | et wa-fae i wise usdt @ sk g
AT USdl 8, 99 $al g8 faum 3t 31 3R 3l T 8, 87, Fg &) o ot 81 98-98 fagH W =
3ideft TET fer wepd), s &t gR ¥ET1 3R & Hea §, g bt wien 81 b g3t Suwe ff §ow e ad 1 §
fra-it AgTd Pl §, TH 3T 3Gl 3Td &Y, 3R A& 4d, St U5 g 3l &1 HIR 8, T IS
mw%lsﬁﬁﬁ maa% T g1 1t @A a3 B, A § fibde ofk giast Aa g 1 A U
T8 BeddT| FAN Ugdl §dT §, 39 IR Wt TH5-Us 3o | gi-gl, d=-011 urer st ¥ga1 § e gu &
MM Hed 31 6 gH 9 Wa-gg # T, Tarey U g1 Seii? 9 dt ) 8 i 6 e €, gH SH-R =¥t
O W TS TSd @I | 3R R 33 X8 S a8, d 3gaR §, TR Id wiait iR 7 | [eeil-Ss1 Jal|
S1eT P ST FHTS S TUY Y IRA1E Hd 812’

ITYe TR B! USHR AR I T ¥Y BT IR q4133:
W= — " WI-IRT & H 1 99 82

1. HHYRY

2.58

3. AN

4. g1

Correct Answer :-

4) ‘39 IRE 3% TS, A fRigi-uR ugd @ iR U g 7 | 3l U $Is sul-Qd T8l & fb
it 918 Ug o, g, TI-TRT AR~ Gt 3i3sh & fag 8 9| st Ia-fi offd wis usdl § ok |
AT USdl 8, 99 $al gg faum 3t 81 3R 3l Fam 8, 87, Fg &) o ot 81 98-93 fagH W =
3ireft 78T form Wb, dterr @t gR @11 SR & e §, g fhaq oien 8 b g9t Swee it wae 18t @id | A
ot AgTa e §, gU Sruet SiTEl 3d 71, 3R 781 3ad, St 98 RNt i@l &1 FR 3, TN Ifs
FT PR 81 3a1 AA-dHR Eid B, G5 g9 Pt 3@ o 3@ §, A € e iR gidt A g &1 U
6! Bl | G Ugdl 38dl &, 30 W W U-Ts ol A -, F9-d |11 vt e § fbe qo da
3TN e & 5 g O Wa-gg & a9, Tarey ue g Treii? g9 @ @ € i ure @ §, g9 Su-WwR g
o 7 US IS YN | 3R ge 39 v 39 Al §, d 98aR 3, T Ta orsit 3R et  I[eeil-gST Wa |
I1eT B! M FATS S YA Y TRAIS P 81?°

IUYT TR B UGHR A4 I T UY HT 3% 9d154:
U — "RAIG’ WG B DI AT Xeg U B avg WIad gl 82



1. dlq
2. 3flq
3.

4, sRA[

Correct Answer :-

5) ‘39 dvg 3R ueh, ot fRigifi-uR ugd W 3R uw g 7 M| SRIeh ug #1g guit-wa A g fp
i 918 Ug d, g, TI-TRT AR~ §t 3i3sh & fag g 9| st Ia-fi o wis usdl 8 ok |
AT USdl 8, 99 $al gg faem 3t 31 iR 3l Fm 8, 87, Hg &) o ot 81 98-98 fagH W =
3ol w8 fora e, e ot g ¥eT1 SR & wear §, 79 fba oien 8t % g Ty off g T ad1 &
fa-t AgTa a1 §, TH 31U 3TE] @ g, 3R g1 ¢d, &l I8 TRRI 1@l $T R 7, TN I
BT PR ¢ | 37 AA-qAHR 814 8, T T P < oI Q@ 8, ﬁﬂé’fmﬁaﬁﬁﬁﬁﬁaﬁ?fﬁlﬁm
e el | G Ugdl 38d1 &, 30 W W Uh-Ts o A -, F9-d |11 vt e § fbe g &
3T HXd 1 & g0 i @a-Fg | a4, Wtrma’rmaﬁﬁ?gs}a‘ra’r'eﬂ'cﬂqmwﬁ% T 3Y-HR 4
o 7 US IS TN | 3R gie 39 dvE 39 Al §, d 98aR 3, TR Ta orsit 3R Het  eeil-gST Wa |
TSI B! M FHTS & TUY T aRATG Hd 81?2

ITYed TN B USH R U T ¥Y BT IR q4133:
T - TSI HHTS | T aTeqd g2

1. At HHAS

2. JOd Bt HHS

3. N &1 HATg

4, Ug-1d 31 HHTS

Correct Answer :-

. Ugd &t HHTS

6) ‘39 dvg 3R ueh, ot fRigfi-uR ugd W 3R s g 7 M| SRIeh ugT #ig g¥i-Ba A g fp
i 918 U q, 7TEY, WI-TRT -1 Tt 3Aeh F fag g o | et a-fae i’ wiet usdl @ ok WA
AT USdl 8, 99 $al gg faem 3t 81 3R 3l Fm 8, 87, Fg &) o ot 81 98-93 fagH W =
3T Y forE wavd, ST Of gR ¥ET1 SR H Fgdl §, g fba- uien gt i g3 @ it 9o =15t a1 &
fpat AgTa a1 §, T9 31U 3iTE1 3@ g, 3R g1 ¢d, 5l I8 TRRI @l $T R 7, TN I
BT PR ¢ | 31 AQ-THR 814 8, T T P <@ oIrd Q@ g, ﬁﬂé’rﬁﬁﬁ:aﬁﬁﬁﬁﬁaﬁ?f?lﬁm
TEY Bedpdr| gARM YgdT ¥edl §, 39 R W U6-ud o*at # §1-aY, fi9-i= ure ust Yea1 § fhr g0 1
M Hd B % gH 4 Wa-g # ae, Farey U g1 Sieii? g ot g1 € 7 5 o €, gH IU-R =¥t
PO W U Y TN | 3R W% 39 dvE IW a1 §, d IgaR €, TR I Srsit 3R 7 | eehl-SS1 Qe
S1ST 3 Ml FHTS & FUA F| avaIG HId 812’

ITYed TN B USHR IR U T ¥Y BT IR qa134:
U - "I 7 BeH-T He o Sy 82

1. 3{T-Ug 1 =1 77T

2. Uheeh A ¢l



3, 919 7 HAT
4. T B 7 ST

Correct Answer :-

o MU W T ST

7) ‘39 a¥g Sl weH, @t i ft-+R U 3@ 3R TP g 7 AT SIS U IS gH-Wa e 8 b
Sl 9Te Ug o, o, T1-IRT TY-ERT gt 33eh & fagr g1 &It | 987 Wa-f37 oife wis usdt 3 ok g7
AT USdl 8, 99 $al g8 faur ot 81 iR 3} T 8, 81, Fg &) o ot 81 98-98 fagH W =
3ol T8 fere wepd, ater1 ot gX TET1 SR A gl §, qH fpa uien 8 i 43t Jmehe 1t waess 5t o | A
frait Aga ®ear §, g0 SIUHT 3HTE] 3T 8, 3R 1) 3\, 5 U8 e} 3HTEl &1 FR 8, TR I
BT YR 21 31 HA-a01R 81 8, G5 g9 el @A ord 3T §, T 8 fpdpe 3T giat A gla &1 A urd
TEY Bepdr| gARM UgdT ¥edl &, 39 W W tH-Td o=_at ® §l-aY, fiA-di= uret ust o1 § fhr qu 1
T HYa 81 b qH 9 Wel-Bg A aad, Tardp? Uy &1 Seiir? g2t oY ) € &= arel ol €, g/ S9-+7 33t
o H US IS I8N | 3R e 39 v SY Al §, d 98X 3, T Ta oreit 3R et ¥ eeil-SST wat |
31eT P M FHTS F TUY T aRE1G HId 812’

ST TR F UG 12 IR T Uy HT IR Iq133:
U - ‘H....qor H ST BT T M §2

1. faerera

2. P&l

3. fRrarm

4, fRigrp

Correct Answer :-

. B

8) '3 g el ugh), At -4 ved W1 R u® &% 7 3w S e Big g-Wa TEI 8
it 98 Ue @, 7, ﬁwﬂvw@wmﬂaﬁhﬁ%ﬁmﬁaﬁlwmﬁ?muﬁﬁm%aﬁ?m
ST Ul 8, 99 HEt 98 faem 3meht 1 3R 37l w1 B, 77, FeA #) o Wl ¥ 93-58 g My
3l EY fora v, damT ot g ¥eTI SR & wear §, 79 fra= wien gt % g3 Taar ot wae T aa1 &
forat Ae-Td HeaT §, T ST TE] ¢ 81, 3R T8l ¢ud, Y U8 greRI 3iT’l &1 R 7, TWRR! i
BT YR ¢ 1 Fa- AA-auT B §, G g i e+ o 3| B, ﬂﬁé’rﬁmaﬁ?sﬁﬂﬁa@%%lﬁm
8t Wewdl | gURN Ugdl 3gdT §, 39 W Wt Uh-Us x| gi-gl, d-di a1a usT 5T § e gu
TR Ha ) fb g Of Wa-ge A a9, TardH: U g1 S1eii? g3t af &t € 9 ure avra §, g0 SU-uR gt
O W TS TSd @I | 3R i 33 X8 S a1 8, d 3gaR §, TR Ia Wiait iR 7t & [eeil-Ss1 Jal|
S1eT P ML FHTS S TUY T IRE1G P 812’

ST TR F UGH -1 T T ¥Y $T SR Ja1s3:
U - ‘% Xsg BT A 72

1. faeim

2. 31

3. faR

4. &R



Correct Answer :-

. 3R

9) ‘g9 g el U, At ieT-+R ugd 3@ 3R TP g 7 AT ST U I gH-Wa TE 8 b
il 9TE U &, e, TI-TRT AT 9t 3o & fag g1 S | 98T a3 offe wisH! usdt § ok |A
AT USdT 8, 99 ol g8 faur 3t 31 3R 3imelt Fam 8, BT, Fe &Y 3 ol 31 93-9¢ fagH Wt 3=
3R 1Y fora v, SYeT ot gR ¥eTI 3R & &gar §, g fran aien g i g3t e ot Ja@ At ad 1 &
it AgTa o §, gU SruFt SiTEl d@d §l, 3R 81 dd, ot 98 RN SHIEl &1 F3 8, TN Ifs
BT S g1 3a9 AA-T9 81 8, T 799 BTt T o1 3@ B, A & e ok gTt Au gl ¥ A U
el Bedhdl | AR Ugdl 8T §, 89 W W Uh-US et A q1-gl, F19-f71 aret usT o1 § b g0 $4
TR FRd g1 for g Of Wa-Fg | I, TATHY T g1 SI1SHI? T a1 gf g1 Fi1 91t oTd &, qH SH-UR g2t
PO W U3 S TN | 3R R 33 dvE SW aI §, d 3gaR €, TR Td Ssit 3R 7 | Yeehl-S1 el
STST B M FHTS P UL T IRIIG Hd 82

ST TRl $ UgH 1 U T ¥Y PT 3<R Ja133:
W - HgTa’ BT 9 g 181 82

1. GRyH

2. %

3. M

4. 4YH

Correct Answer :-

10) ‘59 a¥g 3ideht ugH, At i ft-+R Ugd 3@ 3R TP 8 7 AT | ST Ug IS FH-Wd TEI B
& oY 918 Ug @, T, WI-TRT -1 gt st ¥ R g w1 gt wa-fF offd wie rsdt 2 ok
W AT USdl 8, 99 el g fauT 3l 81 3R 31} T 8, BT, HE &I 31 ot 81 98-9 fagH W g
3R 1Y fora @, SeT Ot gR ¥eTI 3R & ®gar §, g fbran aien g i g3t e ot Ja@ At ad 1 &
mﬁﬁwmﬁ,@mmm& IR Y 3@Q, St U8 TR SiiEl &1 o B, g 3R
BT HYT ¢ | TA AA-THR 81 8, T g B < W1d S B, ﬁﬁﬁwaﬁ?sﬂﬁaﬁﬁﬁlﬁw
Y Bewdr| UM Uedl 38dT §, 39 R Ut UtH-Us =9 # at-gl, fi9-d= 91a usT Ieda1 § e g0 31
TR Ha 81 7 g0 o Wa-og & e, TarH: U 81 Sreii? gt &t S 1 9 9ra & €, 99 SY-+R st
PO H U3 TS el | 3R W 33 dXE SW ar B, d 3gaR 8, TR I wisit 3R 7S | eeh-Ss1 el
STGT Bt MY FATS & YA Tl SRATE Hd 512’

ST TR P UGHR 1Y IR T U BT IWR Id153:
- ' fpde Qa e g d o O e 2

1. GHHB

2. TH Y IS 5T

3. IR aAl

4, HHHD

Correct Answer :-

. gHHB



11) ‘39 e 3T wH, A iarh-+R v @1 3R U g 7 AT | Sl UG PIS g¥-We TEl @
5 St =R ug &, 7Y, WI-TR7 TE-Q it el & g g oima | gEt Ta-fe ol wist usdl ® 8k
W AT USdl 8, 99 el g fauT 3Tl 81 3R 31} T 8, BT, Hg &I 31 ot 81 g8-9 fagH W g
3T 1Y fora @, SeT ot @R ¥eTI 3R ® ®gar §, g fbran aien g1 i g3t e ot Jew gt a1 &
fra-it Aeg=Ta FRa1 §, g0 AU SiiEl 3@d g1, 3R Tl 3T, St 98 Rt SHiEl &1 FR 8, TRl 3fS
ST H ¢ | 509 AA-a0TR B B, T g B 3w oma 3T B, AT @ Frdbe iR gt A g €1 Ao
5t Wewdl | gUN Ugdl 3T §, 39 W Ht UH-Ud 3ot | gi-gl, d-di a1e usT 51 § R g0 $d
3TN 4 81 7 g0 o Wa-og # 99, TarH? U 81 Seii? gt &t S 1 9 9ra & €, 99 SY-+R st
%0 H TS S TN | 3R R 33 dvE SW a B, d 3gaR €, TR I Sisit 3R 7 | Yeehl-Ss1 el
STST B MY FHTS P UL T aRIIG Hd 82

ST TR P UGHR 1Y IR T U BT SWR Iq183:
= - fpde g 72

1. duad

2. fagxit

3. dHH

4. GRS

Correct Answer :-

12) ‘59 avg 3ol weH, af ffaft-4+R ugd 3@ 3R TP 8 7 AT | STl Ug IS gH-Wd TEI 8
f&5 <t 718 ug @, 7Y, -7 TRY-ERT Wt oIl & g B o | 9T wa-feA offd Wi usd B ok
W AT USdl 8, 99 el a8 fauT 3t 81 3R 3} T 8, 71, Hg &I o ot 81 98-9 fagH W =
3ol T8 fore Wepd, ater1 ot X TET1 3R A gl §, T fpa uien 8 i 43t Jese ft waes i o1 A
mﬁﬁmmﬁ,gﬂmmé@%ﬁ MR Tl T@a, St U8 R iG] &1 FR 8, gl gfS
BT HYT 21 39 AA-9TR B B, G g1 Bt A o T R, A €1 fobdpe ok gTet A g &1 Hu
TEY Bewdr| AR Uedr 38dT §, 39 R Ut UH-U > # at-a), fi9-= 91ar usT Tgd1 § e g 32
ST B Bl 6 g0 oY Qa-Fe H 99, Tare? U 81 Seii? g3 af 3 € i ara @ 8, g0 S9-uR 53t
o § U8 Ued el | SRR gFe 33 d¥E SU 1A B, d) 38R B, TR I oai 3R 7 | eeht-SsT @at|
T1ST B M HHTS & BUY 1 SRAIE Hd 812

S TR Y UG 12 IR T Uy HT IR Ia153:
U - B HTE A I3 TS B T T3 S 81 g@r?
1. ¥ d ST

2. fopdbe Werd

3. gied

4, HEAd DHRd

Correct Answer :-

. b @ad



‘39 @R S TeHl, A figit-uR ugd @ 3R U g% 7 A | SRiEl U Bis sul-9d el § fr ot
TR U &, 8T, WI-TRT T-TRT 94t 3ol & fagr §) < | 98t va-fam sifd wisH usdt § ok |7
AT USdl 8, 99 $al gg faur 3t 1 iR 3l Fm 8, 87, Hg &) o ot 81 98-93 fagH W =
3R 1Y fora @, SeT at g X811 3R & &gar §, g fba- aien g i g3t aa? it Jeo At ad 1 &
fra-it Ag=Ta FRa1 §, TH AU 3Gl 3@d g1, 3R 81 ¢@d, St 98 NI 3@l BT FR 8, ToR! gfS
BT PR ¢ | 37 AA-TAHR 814 8, T T P <@ oIrd Q@ g, ﬁﬂﬁﬁmaﬁ?mﬁaﬁ?f%lﬁm
6! el | G Ugdl 38dl §, 30 W W U-Ts ol A -3, F9-di |11 usT e § fbe g
3T HXd 1 P g0 °f @a-Fg | a4, Wuma’rmaﬁﬁ?gs‘fa‘ra’r'eﬂ'cﬂqmwﬁ% T -4 A
o 7 US IS TN | 3R e 39 dvE 39 Al §, d 98aR 3, TR Ta orsit 3R et | eeil-gST Wa |
S1ST 3 Ml FHTS & FUY F| avaIG HId 812’

ITYe TR B USHR R U T ¥Y BT IR qa133:
U - Ugd el T Iuged M g gavar 82

1. 98 WIS A5

2. fobape

3. Hgad
4, UQl-dHT

Correct Answer :-

. TS YIS W5

14) '3 e 3FIe TSR, at Right-ur ugd R iR uw &% 7 S| SRieh ueHT #I3 gul-9d 81 §
& ot 918 ug @, T, W-TRT -1 gt St F g g w1 gt wa-f offd wief wsdt ? ok
W SAHT ISl 8, 99 el gg faer 3t 81 3R 3t Fn 8, 87, $8 &) o ot 81 98-93 fagH W g
3ol 78T fora Wb, dier1 Y R 11 8k & el §, g faq wien 81 o g3t dwe? ot waw =gt a1 A
forat Aewd HeaT §, 99 3= TG ¢ 8, 3R Tl dd, Sl U8 greR) 3iTEl &1 R 7, TRl i
BT HYY ¢ | TA AA-TR B4 8, T g P S W1 S B, ﬂﬁﬁ%aﬁwﬁﬁﬁaﬁﬁélﬁw
e Bedhdl | AR UgdT 8T §, 89 W W Uh-US et A q1-gl, F19-f71 Aret usT o1 § b g0 $4
TR FRd B foh g Of Wa-Fg | T4, TATHY T g1 SI1SHI? T <l gf g1 Fi 91l o1d &, qH SH-UR g
0o # U8 WS Yl | 3R g S99 d¥E 99 a8, d) 38R §, TR 9 w3l 3R 7 | [eeit-s o1 @al|
STST B MY FHTS P UL F) aRIIG Hd 82

ST TR H UgH 1 U T ¥Y $T IR Ja133:
TR - U T § TS Bre usdl @' § @ ared 82
1. Pl Hedd Bl

2. 3G H A T ST

3. 319 BIg &

4. 31 AT g1 ST

Correct Answer :-

. B! HgAd BIAI

15) ‘59 avg 3ol U, At fift-+R ugd 381 3R T 8 7 AT | STl gl BI3 gH-Wd TEI 8
5 St =R ug &, 7Y, WI-TR1 TE-Qe it el & fag g oia | gEl Ta-fo ol wist usdl ® 8k
W SAT USdl 8, 99 el a8 fauT 3l 81 3R 31l T 8, BT, Ha &I 31 ot 81 g8-98 fagH W I



3l 78T fora Wb, dlier1 A gR 11 ok & el §, g faq wien 81 b g3t dwe? ot waw =gt |1 @
fra-it Ag=Ta ST §, g0 AU 3Gl 3Td g1, 3R T8l 3&d, St 98 RNt SHiEl &1 $R 8, ToR! gfS
BT B o1 3A1 AA-91 B 8, G 1 Pl S 9Id g 3, ﬂﬂﬁ%aﬁvgﬁﬁﬁaﬁﬁélﬁw
e Bedhdl | AR Ugdl 6T §, 89 W W Uh-US et A q1-gl, F19-f71 Aret us1 ot § b g0 &4
TR FRd B fh g O Wa-Fg | I, TATHY T g1 SIISHI? T 1 gf g1 Fi 01l oTd &, qH SH-UR g
0o # U8 WS el | 3R I 39 a¥E 99 a8, d) S8R §, TR 99 wai 3R 7 | [eeit-s o1 @al|
STST B M FHTS P UL F) IRIIG Hd 82

ST TN DI UGHT A1 T Y ¥Y BT IR q4134:
TR - U T Bt faen o <t @2
1. FlcH

2. 3U4Uy

3. DMl
4, fAeY

Correct Answer :-

16) AYR-AYR W EuP wa

- wfafe wferor ufaoa
s &1 vy sreifed o1

TRY Far faga yu a1

Tgd HIH-1 g ¥, Jg-a!

< Yo &1 Ry sraffir,

W sftaT BT 31Y] -
Ja®-Ja® Y U ofa!

IR Maa sa o=

AT 38 JHA SaT HU;
fay-zay RR ¢ wear

B, 1 5 T g faren
Rrgx-Rigr W e wran

IuYed U= B) Ugh? 19 UD T Uy P IR Iad133:
WA " ATEAIP’ BT garaardt gl 82
1. 3Tl

2. HRYDR

3. 0 Y BIs Tol

4, JHD



Correct Answer :-

17) AYR-AYR W 9P Fa!

o1 wfefe ufaaror yfaue

fraaw &1 9y sefea H

TRY e faqa g e

Tgd HIF-91 gd ¥, Jg-a-!

< Wt T Ry Sraf¥fir,

R ST BT 319 T
Ja®-a® WY U o

R faa sHa o=

HITT 38 g SaTelT HU;
fay-zray RR ¢ sgar

M, 9 5 T g e
firge-Rigr W dus s

ST U= $ UgHh A12 U 7T UY T 30 I133:
- U U & <SaTer &7 3= 32
1. 3T

2. Tiftra SHoif ¥

3. S ¥

4, SRATHA Sorl A

Correct Answer :-

. TS

18) HYR-UYR W duss o
g yfafes wfaeror uioaa
firaaw &1 9y seifed o
TRY e faga yu e

gd TN-11 ga ¥, Jg-a-1!

3 Ut o1 Ry Srufifi,
o Sftaq BT 3] T



Ja®-Ja® B U ofd!

R faa sHa o=

AT ¥e g4 SaTel B

fay-zray RR ¢ sgar

M, 9 5 T g e

Rrgr-Rgy W dius ren

ST U= F UgH 12 U 7T UY T 30 I133:
- YR Ufad | Suant ford Xreq § wgad g3 @2
1. Had ufdud

2. Had ufdfe

3. dhad Ufdaon

4. IWRIGd gt

Correct Answer :-

. SWRIad gt

19) HYR-TLR W EUS o

gu-g wfafe ufaeror yfoua

firaaw &1 9y seifed o

TRY e faga yu s

Hgo |- ga ¥, Hg-a-1!

3 vt 31 Ry SraRf,

W e BT 3] TA-TT@
Ja®-qa® WY SIus o

aw aa s Tad

I ¥E g9 ware $u;
fay-=ray AR ¢ dear &

B, 51 oTd T g forem
fRrgv-Rige A% v wan

IUYad TEIi &1 Ugh? ) YD T UY BT IR 9133
WA Ygd T A § B 91 PR 8 ?
1. SUHT

2. 0D

3. JAU&l



4, dlu®

Correct Answer :-

20) AYR-AYR W U e
oI wfefe ufaaror yfaua
fraaw &1 9y seifea o
TRY e faqa g e

Tgd HIF-91 gd ¥, Jg-a-!

< Wt T Ry Sraf¥fir,

R SHae &7 319 T
Ja®-a® WY U o

aw 2iad e Ta-

AT 38 g3 SaTelt BU;
fay-zray RR A wgar &

M, 9 5 T g e
Rirge-Rige W dius s

ST TR P UgHR A UD T U PT IR qa133:
WH- G g BT AT §?
1. Hq

2. @RI

3. DA

4. psdl

Correct Answer :-

21) AYR-AYR W U oa!
- wfafe ufaeror yfoua
firaaw &1 9y seifed o
TRy e faga yu e

qgd TH-I1 ga ¥, Jg-a-1!

2 vt 31 Ry SraRf,



A S BT 3] T
Ja®-Jad 1R SIus o

R faa sHa o=

AT Ye TF9 SaT S
fay-zray RR A pgar &
B, -1 oTd T g firem
Rrgx-Rigy W dius sren
ST U= $ UgHhR A2 U 7T UY BT 30X I133:
u=A- gfafeT & Suw g2
1.4

2.4

3. Uil

4. &=

Correct Answer :-

22) AYR-AYR W U oa!
- wfafe ufaaror yfaua
firaaw &1 9y seifed o
TRY e faga yu e

gd TH-11 ga ¥, Jg-a-1!

3 yoT 1 Ry Sraffir,
R SHae &7 3] T
Ja®-Jad WX S o

ar iad e Taq

i ¥E e o Sul;
fay-=ray AR (A dear &
BT, T oIdl T g o
Rrgz-Rrez WY ius wren
ST UL Y UgdhR 1 U T UY HT IR qa133:
- TRY &1 3 §:

1. A

2. guY



3. PN
4, d1g

Correct Answer :-

23) AYR-AYR W U oa!

g fafe ufaeror afooe

firaaw &1 9y seifed o

TRY e faya yu a1

TGd TH-A1 ga ¥, Jg-a-1!

2 yoT 1 Ry Sraffir,

R SHae &7 319 T

Ja$-Jas AY Sue oa

aw Xad srad Tad

AT 38 g4 SaTelt HUT;

fay-=rau AR (A wear &

B, 9 5Tl T g fren

Rirge-Rige W Sius s

S UL P UgHR 1 U T Uy HT IR qa13:
TH- RY.... YU 7 | YU Hg= A 1 fHwmg g2
1. 39, 7Ard

2. féar, /|

3. YU, 3RS

4. YTH, div

Correct Answer :-

24) HYR-AYR W U o
gu-g wfafe ufaaror afaae
fOraraw &1 uy sireifed wv!
TRY e faga yu s

TG HIH-H1ga R, g



S Yo 31 Ry Srafifi,

R STa BT 319 T
Ja®-a® WY U o

R faa sHa o=

AT I8 g SaTelT HU;
fay-zray RR ¢ sgar

M, 9 5 9T g e
firgv-Rigr W dus o

ST U I UgH -1 I T Uy $T IR qa133:
oA fAyuR.. & dfea & & &7 SR 3
1. 3EHR

2. faamr

3. 3RTY

4, 3U-cd

Correct Answer :-

25) AYR-AYR WY U e

gu-g wfafe ufaeror wfaua

firaaw &1 9y seifed o

TRY e faga yu e

Tgd HIH-91 gd 3, Jg-a-1!

3 v 31 Ry SraRf,

R SHaeT &7 31 T
Ja®-qa® WY <us o

aw 2iad e o

I ¥E g9 ware ul;
fay-zrau RR T pgar &

B, 9 5 9T g e
Rrgz-Rrer WY s wren

ITYad TEIi™ &1 Ugh? ) YD T UY BT IR 9133
WA - HafE A e &Y o 9o & @2
1. AT Dt



2. faamT ot
3. fqa=rar 1
4. AYRAT B

Correct Answer :-

. HYIATHI

26) AYR-AYR W U oa!

- wfafe ufaaror wfaua

fraaw o1 9y seifea o

TRY e faga yu e

qgd TN-11 ga ¥, Jg-a-1!

3 v 31 Ry SraRkf,

R SHaeT &7 31 T
Ja®-qa® AY <us o

ar iad e o

I TE G STl Hl;
fay-zrayu RR T wgar

B, 9 5T T g fren
Rrgz-Rez WY ius wren

ST U= $ UgHR -T2 T 7T UY BT ST I134:
W - Ugd HiaaT o1 JRom 3l 82
1. 10 b1 gl &l

2. UfAUd STefd gl

3. g &1 BTHAT DI gof AT

4, T St SIS DI TATHR GURI DI YT AT

Correct Answer :-

o T3 EUD Bl SATHR GERI DI TBIR &A1

27) HYR-AYR WY U ol
gu-gu wfafe ufaeror afeae
fraaw &1 9y sefea o
TRY e faga yu a1



TG HH-A1 ga ¥, Hg-a-1!

2 woT &1 Ry Sraffir,

R SHae BT 319 T

Ja®-a® WY U o

R faa sHa o=

AT 38 g3 SaTelT HU;

fay-zray RR ¢ sgar

B, -1 oIdl UTT gars e

Rrg-Rgy W dius sren

ST U= $ UgHh A2 U 7T UY T 30 I133:
W= - Flrgaw <Teg &1 WA 981 W FafdE A feas o fean g2
1. F19%

2. 3R
3. Ui
4, UHt

Correct Answer :-

- IR

28) HYR-AYR W s wa

- wfafe ufaeror yfoua
firaaw &1 9y seifed o

TRY e faga yu s

Tgd HIH-H1 gd 3, Jg-a-1!

3 vt 31 Ry SraRfi,

W e BT 3] TA-TT@
Ja®-qa® WY SIus o

ar iad s iae o

T YE g9 Sare Sul;
fay-zrayu RR T pgar &

B, 9 5T 9T g e
Rrez-Rigr | fues wren

IUYad TEIi &1 Ugh? ) YD T UY BT IR 9133
WA - a1 Xeg &1 faey &1 82



1. 99

2. RIH
3. A
4, I

Correct Answer :-

29) AYR-AYR WY U ol

gu-g wfafes wfaeror ufua

fOraaw &1 vy sireifed o

TR e faga yu s

Tgd HIH-91 g ¥, Jg-a-1!

2 wor o1 Ry sraffira,

W Sfaq BT 3] TA-TT@

Ja®-qad 1R s o

ar iad e Taq

AT Y T SaTa HU;

fay-=ray AR (A dear &

B, 9 5 9T g e

Rrge-Rigr W uw s

IUYed TEIi< &1 Ugh ) YD T UY BT IR 9133
W - A & AR B geH & forg wr sma=as §2
1. STt Y

2. QfoRT=ITell iUeh ol

3. Ja-ar &l

4, ATl 1

Correct Answer :-

. QfaRIe diud B

30) HYR-AYR W U oa
g wfafes ufaaror afaue
Oraas &1 9y Srralfed o



ARY o faga qu e

Tgd HIF-91 gd ¥, Jg-a-!

< Wt T Ry Sraf¥fir,

R STae &1 319 T

Ja®-Jad 1R U o

R faa sHa o=

HITT I8 g SaTelT H;

fay-zray R ¢ sgar &

B, -1 oId graT g firen

Rirgx-Rgy W dius ren

ST U= F UgH A12 U 7T UY T 30 I133:
W - HTARE YT EUs Bt FTa= & g wafEh «ii w8 @ 82
1. S8R Y WETHR 3G

2. TU &t ST 8

3. T Y 3R = & forg

4. JURTeR] T

Correct Answer :-

. SR I YTPR G

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /

TS O § IATfed a1 B MIFRT 50,000 B (Hz) 31 T8 1 & T &
1. 5kHz / 5 foagds

2.50kHz / 50 foratigedt

3. 500kHz / 500 faigest

4. 5000kHz / 5000 feHagcs

Correct Answer :-

. 50kHz / 50 fHaEes



The following are the pH values of some commonly known solutions:

Substance. pH value.
Acid rain 5.6
(Gastric juice. 1.0
Lemon juice 25
Tomato juice 41

Which one of them is the most acidic? /

farfaf@a $o A faeaa & pH A &

gere. divT A7
T aur 2.6

AR 1.0

oftg & 2.5

THATEY & 39 4.1

5ol & diear oy Jfde 3wl 87

1. Acid rain / 3% qf
2. Lemon juice / :ﬂQW kSl
3. Gastric juice / THIRII XY

4. Tomato juice / CHICR hIXH

Correct Answer :-

 Gastric juice / 3THIRII T

The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

& T gl-wF g o U Wl §s& & A & Al a5 X 3R Y & =@ &+
ceftar §1 P & § siaar saa 7eg &2

distance
Y

time
1. X takes more time than Y to cover a particular distance. /
TH Fid QU B q B & [T X BT Y 4% g A gl

2. 'Y takes more time than X to cover a particular distance. /

% R Q@ B qa HA & o Yy &1 X 31fde g S g



3. Bike X covers more distance than Y. /
SIEH X, T3P Y BT 3(Uef 3ifere gt a8 it 7|
4. Bike X moves faster than the Bike Y. /

g5 X, S5 Y P UM 31fdh Aol 8

Correct Answer :-

« X takes more time than Y to cover a particular distance. /

% A QA B q HA & T X B Y I 31f% I A g

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the position
of crane is: /

S QT gt forad 9RY ($9), UTeU Wad (phyto planktons), TTUI 3R ATl %,
&1 31 fRufa ghft-

1. I trophic level / 1 qPH TR

2. 11 trophic level / 11 Qf¥edT TR
3. I1I trophic level / III UIfPdhdl TR

4. 1V trophic level / IV Tif¥ddl WR

Correct Answer :-

« 1V trophic level / IV Tif¥ear TR

5) To teach diverse, difficult to understand concepts in science, a blend of text,
audio, animation, video, still images or interactivity content forms can be used.

This method is known as: /ﬁﬂﬂﬁﬁﬁﬂ,mﬁwmwaﬁaﬁ
UeH & fog, dRe, sifeal, efawe, difsar, R ofaal & fagorar
ammgﬂmﬁw.mwmm“%mmmélwﬁfﬁﬁ
el SIldl &:

1. Information and technology communication enabled learning / I 3R

UIRNTh! TaR e IR
2. Multimedia approach /Uﬁﬁmm
3. Documented problem solving / TR GHST-GHTT
4. Video clips / ﬁ%’ﬁﬁ %’q

Correct Answer :-

« Multimedia approach /ﬂmm



6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius
of curvature of the mirror will be: /

91y # U 39 gUur B A1a AaTS (focal length) 15 T 81 919 31 U H ST ST ©,
4T & gepar &1 B gift:

1.30 cm/ 30 94
2.7.5cm/ 7.5 9t
3. 45 cm / 45 ST
4.15cm/ 15 9

Correct Answer :-

« 30 cm/ 30 I

7) Lightning conductor is a device used: /
af$d ara® (@Mgef~T Heae) Td SUHUI BT T BT A1l 6:
1. To protect the buildings from the effect of lightning /
AR &l dfSd & THIG T S & forg
2. For communication purposes /
TR FaHI o ferg

3. For forecasting the forth coming lightning and thunder /

ST afgd 3R TReR (USR) &1 YaigH™ @ & forg
4. To store the electric charges produced at the time of lighnting /
dfed & grg Idriad faggd 3Mmaxi &I Jufgd B & forg
Correct Answer :-

 To protect the buildings from the effect of lightning /

ARG Pl diod & UHIG I §9 & g

8) Which of the following contains more roughage? /

Frafafaa 9 fead siftre AierarT (roughage) ﬁﬂ%ﬂ ﬁ?ﬂ %?
1. Fish / Hodl

2. Milk /g4

3. Leafy vegetables / TigR gfesrar



4. Meat / |G

Correct Answer :-

« Leafy vegetables / TRIGR afedar

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands on
them because: /

g DI YT S W TR Ahs! B AT DI a1 H IS 38T HgGH 31T o1d 39 3
BTYT D 3 WR QT Hifh:

1. Wood conducts more heat energy than metal plate. /

Ad !, UTd b Wi DI ol H 31 ST SHolf BT Aara Bl g

2. Her body temperature is less than the temperature of the wood and greater than that
of the metal plate. /

IP IRR FT d9HH TP el & dHH I HH 3R U1 & e F 1w 7l
3. Wood is more hotter than a metal plate. /

ABSY, U1 B e P ga 7 31w 7 gl 71

4. Metal plate conducts more heat energy than wood. /

4T & W, Aha! DI qa-T | Sfed ST Sl BT Farad Hal 7

Correct Answer :-

« Metal plate conducts more heat energy than wood. /

U & Wi, Adhe! BI ga- § 3ifed ST Sull &1 AT Hal 5

10) Proteins that regulate all chemical reactions of the body are: /

WA o IRR &1 gt It sifferaret ot frifa w7 §:
1. Blood / Xdd

2. Lymph / AT

3. Hormones / GIHIA

4. Enzymes / TSIISH

Correct Answer :-

. Enzymes/Q\_rl'I%T[



Which of the following motivates a learner to learn? Fafafead s
S I-97 ST F g o Rgndf o1 ufiva sar g2

1. Interest in the topic / Ta&T T S

2. Repay / A0 =T (RT)

3. Lots of homework / (¥ W
4. Easy questions / ST Hdlcl

Correct Answer :-

« Interest in the topic / f[AvT &

12) Kelvin is the unit of: /
1. Pressure / G&Id
2. Temperature / dTUHIT

3. Heat / % BHT

4. Humidity / 3Tsal

Correct Answer :-

« Temperature / dTUHIA

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning
of the vehicle.

Which one of the following acids is used in such Batteries? /

JTSIHISTST a1 & FHBS & e fagga St @t myfd H7 & e sefal da ot
YT PTUANT FIA 2 |

Y UPR & 9eial § A & A SI-91 3r ST YT fobar Sirar g2
1. Phosphoric acid / BIhING S
2. Acetic acid / TfRfe® 3t

3. Hydrochloric acid / Wﬂ% 3T
4. Sulphuric acid / W &I

Correct Answer :-

« Sulphuric acid / W STHT



14) Choose the incorrect statement among the following. /
frafafed 4 9 s $Y= 1997 $¥ |

1. Metals are electropositive in nature. /
YTd U d H faggd ¢S B ] |
2. Metals are sonorous in nature. /

HTq U fa § a1 gt 2

3. Metals reacts with dil. acids to produce hydrogen gas. /
IS gIor 114 BT JaTed H & fT UTq g o & W Sififoran it 1

4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

O UTq SHTRITSH & 1Y HTNHar BT ], 99 RIS &1 A giar 8 | for ia F a1
NEERKINKE IS

Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

O YT Siaitor & A1y NfohaT Sl 7, I9 STz s &1 FHur gl 8 | o i W
NEERKINE IS

15) Identify a non-metal which has metallic lustre: /

3 YT BT UgaH $¥, R @ a0 gt 8:
1. Phosphorous / I IRY

2. Todine / SIS

3. Sodium / HifeaH

4, Sulphur / HcthY

Correct Answer :-

e Todine/ IS

16) The device fitted with an automobile to show the distance travelled by it is called: /

qTE1 GRT AT Y 1€ g Y a=1i9 & e o 471 &1 fbe e ot 8, 39 weT S @:
1. Speedometer / TISHIE

2. Odometer / 3TSITHER

3. Lactometer / TGCIHIEY



4, Hydrometer / 6|3§;|11|3?

Correct Answer :-

. Odometer/ailgllilaq

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and
the other is concave. If the two lenses are kept in contact, then what is the focal length of this
combination?

3 A1 § 9 TP & UTaR BT URHATO 2D B 1 d9i § I U 34d @ SR g 3fqad g1 afg
&1 O B HUD | IW W14 &, a1 $H Ao B Bihd adlg (b g2

1. Infinite / 3Hd
2. Zero / YU
3.4

4,2

Correct Answer :-

« Infinite / 3Hd

18) The credit of green revolution in our country goes to: /

TR 31 & gha wifa &1 wmar @

1. Dr. V. Kurien / . 9. W

2. Dr. H.G. Khorana / SI. Qﬁ\_rﬁ QR

3. Dr. M..S. Swaminathan / SI. TH.TY. AU
4. Arya Bhatta / 3 Hg

Correct Answer :-

o Dr. M.S. Swaminathan / SI. TH.UY. WHHTA

19) The magnetic effect of electric current was first observed by: /

Oy YRT & a1 UHTT B GAuYH 37 gIRT Ufar foam mam o
1. Andrew Ampere / QEHQTEﬂTR

2. Alessandro Volta / Qﬁ@@ EhRT

3. Hans Christian Oersted / %7\’:[ i s

4, Michael Faraday / HIgdP ] B



Correct Answer :-

« Hans Christian Oersted / %7\‘:[ IEJERE \’rh@_f'f

20) The strength of the sea breeze depends on: /

TS gaT ®t yHedr 39 W R wRdl &

1. The temperature difference between the land and the ocean / 3;[&[ 3R dHx & YA o S &
AR W

2. The direction at which it blows / W E‘I—E:ef CARTEURCES

3. The level difference between the ocean and land / HH% 3R 3;[&[ & TR b dd B R W

4. Amount of water vapor present in the atmosphere / AIdlarul 2| lﬁT:EZ ST B HEHT IR

Correct Answer :-

+ The temperature difference between the land and the ocean / l‘[&f 3R JHx o AU o & &
HR W

21) The power of earthquake is expressed in terms of : /

YU PI diadl B R B ol o:
1. Kelvin scale / dhfedd Thd

2. Celsius scale / IO Whd

3. Richter scale / Reex Ihal

4. Romer scale / IR Wb d

Correct Answer :-

« Richter scale / Raex @W’[

22) An electrical cell has: /

o fagga Aa A g &

1. Three terminals / T AT

2. Only one terminal / PHad Udh <
3. No terminals / ?ﬁ_ﬁc fﬁqﬁ qg)[

4. Two terminals / &l TfHTA

Correct Answer :-



o Two terminals / Eﬁ EY

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the element.
/

TSP acd 'X' T 4 i 3R 3 Wierd g1 9 & Tl Jarodpdl $t Ugar de|
1.4
2.3
3.2

4.1

Correct Answer :-

24) Pick the odd one out. /

TS fauw g |

1. Air/=dl

2. Mixture of sugar in water / Ut H QR BT Ao
3. Mixture of oil in water / O H d'c T fH0T

4. Cold drinks / 2ITd U

Correct Answer :-

« Mixture of oil in water / O i | éa CAREELYI

25) When the force is doubled and the area is halved, then the pressure will: /

oI 99 SIAT H fa1 9Iar @ SR erwd set = faan wirar 8, af gre:

1. Be doubled / GNTAT 1 ST

2. Become one fourth of its original value / 3 IRAfd%H A BT Tdh Elsf?-l'l_sc Epf SR
3. Become four times its original value / 30 dRdfd® A BT IR RIGII Epf SR

4. Be halved / &rr%rrs“rmﬁm

Correct Answer :-

« Become four times its original value / 30 dRdfdd T &1 IR T 81 SR

26) When a paste of starch is added to boiling water, the type of system formed is: /



SIq HS (starch) BT TP U IFeTd UTHT H STAT STl 8, ol I ATeil WOITEH! &7 YPR @8-
1. Colloidal solution / HITSSd fdeTd

2. Suspension / IBNEE

3. True solution / IRdfd% faera=

4. Dilute solution / ?‘lﬂﬁﬂtﬁ

Correct Answer :-

« Colloidal solution / PIATSSH AT

27) When carbon dioxide is dissolved in water, the solution turns ./
g P SgSiiaass UM A ga o g, difaqaa  sgadargl

1. red litmus to blue / €Td foreqy &1 i o

2. blue litmus to red / 7icl fereHY & oTet |

3. no change in the colour of litmus / INGERERT R Ehgf"éc BIRGRE T8l

4. into a yellow colour with methyl orange / TS 3RS & 1y tied ¥ 8

Correct Answer :-

o blue litmus to red/:ﬂ@[ fereayg ﬁ NI ff

28) Which one of the following is the appropriate unit which is used to measure the volume
of Refined oil taken in a container? /

fafifad & ¥ S19-91 Suge TS ¢ rH®T T Ue Ui § uispd ad 3 A4 B
A1 & fore frar sirar 82

1. Kilogram / farm
2. Nanometre / F-IHIER
3.gm/L / TH / TR
4. Litre / Alex

Correct Answer :-

o Litre/ F"E?

29) Which of the following is not a shell fish? /

Fraferfad d§ Q@ S19-91 FaEUR) D! (shell fish) T8 82



1. Crabs and bobsters / hH Sl 3R d[TCR

2. Mrigals / §TTcT
3. Oysters / 3R
4. Octopus / 3iFeIqq

Correct Answer :-

+ Mrigals / H{ITTcl

30) Which of the following is an example for diffusion of a solid into liquid ? /
FrafafEa & & FH-11 3R &1 avd & TR 3T U ISTER0 22

1. Ink into water / UT- H Wlﬁ

2. Carbon dioxide into water / Ot & STe S'I'S'GTVIHFIEG’

3. Oxygen in water / U SffeRfteH

4. Copper sulphate into water / U H SR Jethe

Correct Answer :-

» Copper sulphate into water / UM H HIOR ethe

31) Which one of the following solids is used as a drying agent in bottles containing medicinal
tablets? /

fFrafafaa & | fg 3 &1 wahr studha My are Siaal # 6 I a1 PRSI & =9 & farar s
22

1. Calcium carbonate / HIRIIH HIEHC
2. Sodium hydroxide / SfeTH RIS S

3. Quicklime / TS AT
4. Silica gel / RifrmT @

Correct Answer :-

« Silica gel / RifcrT oia

32) What kind a learner is a child who seems to learn best when carrying out a
physical activity related to the subject? / dg d=l foa ave @1 R ?ﬁﬁ?ﬂ %
<t fordt fawa & TefRa wifos &l &1 #ed g Ia9 3T dHaar g2

1. Visual / 9 (fag31c)



2. Aural / B (31Rd)

3. Kinesthetic / TG dal (@3fCH)
4. Reading/writing / T/ (fETRISE)

Correct Answer :-

. Kinesthetic / TTfaiddt @Eﬁ@ﬁ@

33) The chemical name of washing soda is: / ATfRIT ST BT IS 19 3:
1. Sodium carbonate / STH HIEHC

2. Sodium hydrogen carbonate / TITSTH BTSS0I PHIEC

3. Sodium hydrogen sulfate / qifeaH 6I$§\I\TI"1 qehe

4. Sodium sulfate / QST Gethe

Correct Answer :-

. Sodium carbonate / T STH HIEAC

34) Which of the following are the objectives for science education at higher
primary (V, VI, VII) level? / 3 UTYTH (v, VI, VII) TR & fRreor faenfdat
& for fFafafea A @ s v SExU &2

1. Observation, induction and deduction. / TARI&0T, 3RTHA 3R A
2. Knowledge, comprehension and application. / -, HA 3R G‘IT:[W"T

3. Receiving, responding, valuing and organization. / Siftynfedn, ufafosan, W
3R TS

4. Receiving, responding and valuing. / TS, Ufcehar 3R Hedih

Correct Answer :-

- Knowledge, comprehension and application. / T, JH 3R &lﬂ'q*:n'r[

35) Which of the following cannot be used in mixed cropping? /

fFrafefad & A feaer Sy fAfda v & =&Y fur s gwdar g2
1. Ragi+ mustard / I + TR

2. Wheat + gram / ﬁ_§' + 31



3. Wheat + mustard / ﬁ_ﬁ + IRl
4. Soya bean + pigeon pea / HraTe= + 3RS P ard

Correct Answer :-

« Ragi+ mustard / AT+ IRl

36) Tracking the learning process during the instruction period is

which type of evaluation process? / SfRRTH ufshar &) fdwr srafr &
SR 3% &1 fh YRR Ft Geaiop ufehar 872

1. Formative evaluation / 3{TURTRe PRCE!

2. Summative evaluation / T Jj\c'qiob"l

3. Placement evaluation / ¥ J;Lcﬂicb"l

4. Diagnostic evaluation / &I~ Hedid

Correct Answer :-

. Formative evaluation / 3T i

37) Curriculum is a complete plan for of educational aims. /

A It P & forg ureTwH ve i aieFT 81
1. implementation / CRIEERE]
2. understanding / JHA

3. evaluation / HcdTh
4. visualization / Ul

Correct Answer :-

« implementation / CRIESpE|

38) Crop rotation is a practice to grow on the same field. /
Y 3T (Crop rotation) TH g1 A # IUST $ ufshar g1
1. two or more crops together / TS 3B HId Udh Y

2. two or more crops in definite row pattern together / BIEGRIES] ﬁ"d:ffr _C?f gl a T 3 BId Uh
BSI

3. all the above / SWRIad g+t



4. a leguminous crop between two cereal crops / Tl 3HTS! aTel Bdl & o Udh BhdaR thyd

Correct Answer :-

» a leguminous crop between two cereal crops / Eff 3T Tl BOdl & WWW Hmd

39) One of the statements made about consumers is incorrect. Identify the same. /
SUHITITSH & Y | Th HYF T § | STB! g B |

1. They cannot manufacture their own food. /é 3 WWW?@WWI

2. Chemical energy is obtained from outside. / QIHIQP-IOI? d)\rl(f digR @ YItd ODQQI %I

3. They do not have chlorophyll. / 3% U1 TUigRd FaRIfthe) el 8T )|
4, They take in CO, and give out O,. / g CO, UgUl A % ] (0} @Eﬁ %I

Correct Answer :-

« They take in CO; and give out O5. / J CO, Uslr Hd % g 0, @Sﬁ %'I

40) One of the processes that involves the consumption of CO5 is: /
CO, @I Jud # i uftkarei # 3 U &:

1. Forest fires / ST P 3T

2. Photosynthesis / UDIR[ REGLY]

3. Respiration / I

4. Combustion of substances / W%ﬁﬁ <

Correct Answer :-

 Photosynthesis / UDIRT REGNY

41) What is meant by intervarietal hybridisation? / $eXdfedd YHUl (Scvafddd

TTSfafSwRT) &1 @ o 82
1. Crossing between different genera / fafte SR o o IR

2. Crossing between different varieties of plants / qrelf ot - foserl & o spilRiT
3. Crossing between genetically dissimilar plants / 3TafRI% U ¥ SGAM Qe & ofid BT

4. Crossing between two different species of the same genus / T &l S & & fF-fUa gofaal &
S IR

Correct Answer :-



« Crossing between different varieties of plants / urelf Y fH-fire fosw & st eifiT

42) what is the literal meaning of the word “Science”? / "ﬁ?ﬂq" RICCA YIT%?F 3k
1 8?

1. Experiment / TN

2. Knowledge / 3T

3. Wisdom / FfGH
4. Logic / d%

Correct Answer :-

- Knowledge / T4

43) Three resistors of 12 ohm each are connected in parallel. This combination is
connected in series with a combination of two resistors of 3 ohm each in series. Find the
net resistance of this circuit. /

YD 12 3H (ohm) & i1 UFARIYS THFIGR U 9 IS §U 8 | 98 "I §9ar 3 Ui
;ﬁgﬂw%ﬁuﬁﬁ%ﬁ%ﬁm%mnﬁ@mﬁw@%lwu&wwwwﬁﬁum
1.10 ohm/ 10 3N

2. 5.5 ohm / 5.5 3{H

3.42 ohm / 42 3(H

4. 15 ohm / 15 31

Correct Answer :-

« 10 ohm/ 10 30H

44) Ability to define an event in one’s own words and language is an indicator of : / f&dl

e ) fhelt & S Tl 3R HTar ® aRyTfid #3a @Y &maT 3961 TP gIE 3:
1. Providing explanation / TFTHRUT Y& HRAT
2. Communication skills / GaR HIYA

3. Value/Attitude / Ged/a-TIgh

4. Experimentation / |

Correct Answer :-



. Communication skills / IR HIRA

45) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /

gt B 9ag & - S gR1 fAffa aaafe qa 3t st el s1am @:
1. Charcoal / IRPId

2. Coke / DI

3. Petroleum / UeIferad

4. Coal / BIIaT

Correct Answer :-

« Coal / HITQT

46) The near point for a normal eye is at a distance of: /

wmmﬁa%mﬁwﬁgaﬂgﬁ%
1.30 cm from the eye / 99 ¥ 30 9
2.20 cm from the eye / 537 ¥ 20 ¥4
3.25cm  from the eye / 9 § 25 9!

4.23 cm from the eye / 75 ¥ 23 THT

Correct Answer :-

e 25cm from theeye/ﬁﬁﬁZS@Tﬁ

47) CANCELLED

If the momentum of a body decreases by 20%, then its kinetic energy will decrease by:/
Tfe TP I BT AT 20% U< STdT 8, a1 FqP Tfel it HH g Sredl:

1. 40%

2. 18%

3.36%

4. 8%

Correct Answer :-

e 36%



In accordance with Dale’s Cone of Experience, which of the following media can help a
student to retain about 30 percent of his learning experience? / A & I 3P

TG & guR, Fufaf@a & | @19 O1 ureay te 9 &) 39 SAftRT sgya
¥ 30 gfa=ra &1 ufaenfyd 31 o Hee &% Jodr 82

1. Youtube / Y&Id

2. Orkut / IIRPpC
3. Google Plus / 7[ITeT WiH

4, Radio / %l%al
Correct Answer :-

« Youtube / YR

49) A doctor uses a for examining the ear of the patient. / T® Slae¥

MM & S Pt oid F1 & RC Te ST IUANT BT g |
1. concave mirror / IS GUUT

2. concave lens / {ddd dY

3. convex mirror / 3T GUUT

4. convex lens / 3T

Correct Answer :-

. concave mirror / Addd E'EfUT

50) The two forces acting on a body which is floating in a liquid is: /
T X Uerd o v areft 9vg IR 1 HIA ardl gl 94 &

1. Buoyant force and frictional force / 3cfIdd dcf 3R g1 5@

2. Gravitational force and buoyant force / W&UT I 3R IGH

3. Gravitational force and frictional force / WEFUT g 3R g7 §d

4. Buoyant force and centripetal force / S&Id® dd] 3R BT §a

Correct Answer :-

« Gravitational force and buoyant force / Wﬁﬁﬂ I 3R IGH



The characteristic which helps us to distinguish one sound from another sound

having the same pitch and loudness is i

fatwar 8 < g® I9H " ok 9HE WaR &) 918 91 U @iy &l 3
g T iR ygar H Heg ! gl
1. veIocity/a"T

2. amplitude / STIH

3. quality / T0Tddl
4. frequency/ SfTdfI

Correct Answer :-

« quality / IJ0IAdI

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the
mass and velocity are doubled, then find the ratio of the final kinetic energy to
the initial kinetic energy. /

S 'm' B TP ag A7 'v' & 1Y TH ATef 11 & JieaR 3 gt g1 afe som=
3R A B SREAT HR far wiran &, @ sifaw nfaw St ik e wfawt Set &1
U AT B

1.1:8

2. 4:1

3.8:1

4. 1:4

Correct Answer :-

53) The pitch of the sound is determined by: /
twaf 3t fra g9 gr1 FAuifia o1 9 3:

1. Amplitude / 3ATITH

2. Intensity/?ﬁ?ﬁﬂ

3. Frequency/ &IT?{%T

4. Loudness/ Ydddl

Correct Answer :-

« Frequency/ GHTJ'R'T



54) The derived unit of the physical quantity, which is the product of mass and
acceleration is: /

W4 AT B Gud IHTE, Sl SToTHM 3R @R $T UG 8
1. pascal / Ulch ol
2. newton / g+

3. joule / 91
4. watt / ¢

Correct Answer :-

+ newton / Jcd

55) What are the food requirements of dairy animals? /
S ugrai Y Wrer STIRYHATE T 82
1. The feed should include roughages and concentrates in balanced amounts /

W1 § gieT IR1 81 d1feC Ud Arsdl ddferd a1 3 g1

2. Fresh green grass/

GLSIGRIRCI

3. Mixed feed containing dry grass, grams and other roughages /
TE 9, 9 SR 39 Hiel IR gad Hidd |

4. Nutritious feed with additives /

AT & 1Y NS T

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts /

Qe § HieT IRT §HT1 d1feU Ud Al Sdferd 9= | g1

56) A teacher always introduces the concept of atoms with the same

example.This shows he did not consider: / % f1&/® THIT TP Bl IS0 &
1Y WRUTULSA Bt SAYRUN BT IR=g a1 81 98 feamar g f s e wr
faar =8t fora:

1. His/her student's previous knowledge. / 396 3 & fUsd I
2. The new facilities available to him/her. / 36 1%111 T-I_sc ﬁﬁ?ﬂ\q’ SUdY %I



3. How to update his/her knowledge?/ I &1 & 3Usc fobdr STE?

4. How to keep all the students attentive? / Tt B B AT HY W2

Correct Answer :-

« His/her student's previous knowledge. / I9qH B & DA BIG|

57) Which of the following can be used for making students independent

Iearners?/mﬁﬁmmﬂmﬁﬁﬁﬁﬁﬁ&ﬂﬁm%m
forar s gPar 82

1. ICT resources / &ns‘?ﬂ?ﬁ 1
2. Assignment with long answer based questions / &Y TR TR U9l & 1Y

T 71 BT (SRTETHC)
3. Quiz / TYRRI

4. Group discussion / W EEl

Correct Answer :-

« ICT resources / &n‘éitﬁﬂ 1Y

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

a 2014 q@, &1 Gaftra Wia ggd s At | det 374 A fhd Fefia srar g2
1. Tetanus bacteria / Teag Saifan

2. Taeniasis /@ﬁ’q{ﬂ (agﬁﬁm)

3. Tetanus toxoid / CoY CIiaS

4. Tuberculosis / G&HT (CTERP A1)

Correct Answer :-

+ Tuberculosis / Y&HT @Wﬁﬂ)

59) A teacher discusses the difference between textbook theories and current
ongoing research on the same subject. This shows that: / T ﬁT&Iﬂ? U g’f fawg
R TSI ® & fRAgidl S adH 6 °9d 38 WY & § 3iaR W= ==t Sl
21 9g =itan 8 f&:

1. Science is tentative / TR, THTfAd %I



2. Science is interdisciplinary / f%ﬁﬂ:f, 3R [Avgs %I
3. Science is rapidly expanding / fagm, oot ¥ foxar s 3@ %I

4. Science promotes questioning / a3, TaTA HIA &1 I <l |

Correct Answer :-

« Science is tentative / [a3M, QTHT@H%I

60) Which of the following does not reflect features of a well-developed learning

objecﬁve?/mﬁﬁﬁqwmmﬁmﬁmmﬁ
fawaren @) e T8 HRar 82

1. The teacher holds tests regularly. / TR1e/ fafird ¥ I uler Maford Har g

2. The teacher performs an experiment before the beginning of a topic. / Rrerep ot

fawg o YFeTd ¥ Ugd Ueb YA Rl 5
3. The teacher explains a law and their uses. / e Udh g ek 3% ITINT DY

R Sl g

4. The teacher uses a mix of English and the local language in class. / fRrerd wen A

3Tl 3R I HIST I U1 BT YT HRAT 5|

Correct Answer :-

. The teacher explains a law and their uses. / rer® Udh e 3R 396 IR Hi

RS Sl g




